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@ There is a book on the table. |
There are books on the table.
There is no book on the table.
There are no books on the table.

" Is there a book on the table?
Yes, there is. No, there isn’t.

Are there books on the table?
Yes, there are. No, there aren’t.




Study the model.

Repeat after
your teacher.




There is a lion on the table. E
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There is a ball on the table. E



There are two cats on the table. |a



There are two elephants
under the table.




There is a fish under the table. |



There are two robots on the table. |l



There is a panda on the table. |



There is a rabbit on the table. |



There are two ducks
under the table.




What else

can you say?










No, there isn’t.
There is no fox on the table.







No, there isn’t.
There is no fish on the table.




No, there aren’t.
There are no dogs under the table.




No, there aren’t.
There are no frogs on the table.




No, there isn’t.
There is no rabbit under the table.




No, there aren’t.
There are no elephants on the table.




No, there isn’t.
There Is no panda under the table.




No, there isn’t.
There is no tiger under the table.




No, there aren’t.
There are no ducks on the table.




No, there isn’t.
There is no bear under the table.




No, there isn’t.
There is no ball under the table.







Is there a lion on the table?
Yes, there is.







Is there a bear on the table? E
Yes, there is.




Is there a mouse under the table? E
Yes, there is.




Are there two frogs under the =
table? Yes, there are.




Are there two cats on the table? E
Yes, there are .




Is there a ball on the table?
Yes, there is.




Are there two dogs on the table? E
Yes, there are .




Is there a fish under the table? E
Yes, there is.
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